2024 4 2 H EER o — LTS

AT A HET: AT

2024 4 2 H ERERa— L H RS

AT A HET: AT

{HIL F) A HsEsgsk| miH b QUED) A HEgsE mid b (LT AFFEE | midk W UED) AXFEE | HiAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R S K | - 24,856 -281] #B R 5% % | M- 5,246 1,760 B R AF % | MR- 18,950 ~1,650| #F 8 5% % | M- 600 -2,600
it 24,856 -281 it 5,246 1,760 it 18,950 -1,650 it 600 -2,600
HHa—p 1,200 102 HHa—y 678 48 HHa—y 1,200 0 HHa—y 674 0
o 4R MEHH ) 20,861 5201 Hi R | #EfHa 87,540 8,584 HoOR | - 21,925 655 Hh ER | EHHa-L 92,788 22,073
it 22,061 622 it 88,218 8,632 it 23,125 655 it 93,462 22,073
HHa—p 27,946 2,948 HHa—p 0 0 HHa—y 24,350  -3,461 HHa—y 0 0
5 3t $EAH 01—V 76,475 7,277 1& Rt | HEHHa-p 1,594 320 5 Ft | EEa- 87,371 19,764] & & |- 2,850 2,347
it 104,421 10,225 it 1,594 320 it 111,721 16,303 it 2,850 2,347
9)5) FHHa—) 26,246 3,206] (956 FHHa—) 0 0 9)5) VER T 22,650 -3,461] |95 HEHa—L 0 0
#F 13) | fEEa—y 48,370 -2 & f3) | Efaa—py 0 0 # f3) | -y 59,181 10,104 & 13) | - 0 0
it 74,616 3,204 it 0 0 it 81,831 6,643 it 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R - 458 431 4 R | EEHa- 195 -221 b R | MR- 160 -290] 4+ B | o 140 0
it 458 43 it 195 -221 it 160 -290 it 140 0
HHa—p 0 0 HHa—y 685 20 HHa—p 0 0 HHa—y 680 0
FoHiER | Mo 1,120 504] ZE2oMigR | &I 8,360 81 FoHiER | a0 1,630 600| ZEoHiER | MEHHa—L 8,573 419
it 1,120 504 it 9,045 101 it 1,630 600 it 9,253 419
HHa—y 340 265 HHa—y 365 -15 HHa—y 203 148 HHa—y 361 0
Ead4 | EHa- 21,429 -872) &4 | EHa- 1,435 99 Fa&dhe | EHa-y 16,005 -1,630] F&H4 | EfHa— 1,210 -210
54 =t 21,769 -607 E4 =t 1,800 84 54 =t 16,208 -1,482 154 2t 1,571 -210
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BAREE | - 919 -16] BMRHE | - 4,431 -1,171 ERRRE | - 900 o] EMRH |#EHa-) 4,880 -280
it 919 -16 it 4,431 -1,171 it 900 0 it 4,880 -280
HHa—y 0 0 HHa—y 2,000 -258 HHa—p 0 0 HHa—y 2,000 0
FEA R4 3K | MR- 0 OFEA: - FE4: 33 a1 35,573 ~462 FIE: - RIE 4353y fedHa— 0 OFEA: - FEA 3y MmfHa—) 34,908 -960
it 0 0 it 37,573 -720 it 0 0 it 36,908 -960
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
£ IR - 7,688 227 A B R | - 0 0 AR | B 7,250 =350 ZE R | o 0 0
it 7,688 227 it 0 0 it 7,250 -350 it 0 0
HHa—p 300 -1 HHa—p 64 4 HHa—y 300 0 HHa—y 60 0
Xl MR- 13,624 983 = o fth | EEfHI— 23,056 -2,571 Z O | A 12,568 50 = o fh | fEHHa-L 20,810 -3,640
it 13,924 -984 it 23,120 -2,567 it 12,868 50 it 20,870 -3,640
HHa—p 29,786 3,314 HHa—y 3,792 -201 HHa—y 26,053 -3,313 HHa—y 3,775 0
w4 R M a1 167,430 6,419] & & Ft | EHHa- 167,430 6,419 WA R | B 166,759 17,149 # & 7t | #\Ea- 166,759 17,149
it 197,216 9,733 it 171,222 6,218 it 192,812 13,836 it 170,534 17,149

¥ ETERITOIINTH AT IO B ELITE 5 T, ¥ ETERITOIINTH AT IO B ELRITE 5 T,

M TRESRREG ) DO B TRES: |13, @l in 5 115 B oA ffiFEES BhEE 2

I b [ R S X Ea

1To%—

FEARPE LI ZER, XK [FEAGEE | OO B [5ES: 13, ARl MG 1k LB MR EA1THIHE —
[FiF4 11X RE Lottt

A GHE Gl S




